¢

"B”+.005
(£0.13)

¢

)i

»pA™.010 (+0.25)
—.000 (+0.0)

t

LENGTH
+.007 (+0.18)

BRASS Finish:  Zinc qq—z—325, type |l, ¢l 3—Clear Chromate

FOR #4 SCREW |[FOR #6 SCREW [FOR #8 SCREW [FOR #10 SCREW
LENGTH A: 114 (2.9) A: 140 (3.5) A: 166 (4.2) A: 192 (4.9)

B: 1/4 (6.4) B: 1/4 (6.4) B: 1/4 (6.4) B: 3/8 (9.5)
1/4 (6.4) BRSS4-2 BRSS6—-2 BRSS8-2 BRSS10-2
3/8 (9.5) BRSS4-3 BRSS6—-3 BRSS8-3 BRSS10-3
1/2 (12.7) BRSS4—-4 BRSS6—4 BRSS8-4 BRSS10—4
5/8 (15.9) BRSS4-5 BRSS6—-5 BRSS8-5 BRSS10-5
3/4 (19.1) BRSS4-6 BRSS6—6 BRSS8—-6 BRSS10-6
1 (25.4) BRSS4-8 BRSS6—8 BRSS8-8 BRSS10-8
ALU[\/HNUM Finish: Iridite MIL—C—5541 — Gold #14

FOR #4 SCREW |[FOR #6 SCREW [FOR #8 SCREW [FOR #10 SCREW
LENGTH A: 114 (2.9) A: 140 (3.5) A: 166 (4.2) A: .192 (4.9)

B: 1/4 (6.4) B: 1/4 (6.4) B: 1/4 (6.4) B: 3/8 (9.5)
1/4 (6.4) ALSS4-2 ALSS6-2 ALSSB-2 ALSS10-2
3/8 (9.5) ALSS4-3 ALSS6-3 ALSS8-3 ALSS10-—3
1/2 (12.7) ALSS4—-4 ALSS6—4 ALSS8—-4 ALSS10—4
5/8 (15.9) ALSS4-5 ALSS6-5 ALSS8-5 ALSS10-5
3/4 (19.1) ALSS4-6 ALSS6-6 ALSSB-6 ALSS10-—6
1 (25.4) ALSS4-8 ALSS6-8 ALSS8-8 ALSS10-8

METROUND SPACERS [@ %R
TOLERANCES |FILE # ALSS—BRSS DWN: J.B. APP: FINAL
UN')—(E(S_S:E"(‘)?BED MAT'L: SEE TABLE DT: 09—-31—-95|DT: PART # PRINT
Xxx=+.005 |RE: RICHCO. INC RICHCO INC. SEE TABLE TYPE
A CHANGED FILE NO. AND TITLE BLOCK SM 03.22.02| FRAC=+1/64 ’ ’ PO BOX 804238,CHICAGO,60680 C A
REV] DESCRIPTION ENGR _ DATE ANG=%1 (773) 539—4060




